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Full Marks : 70
Pass Marks : 21
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The figures in the margin indicate full marks
for the questions.

Q. No.1 & Q. No. 2 carry 1 mark eacl 1x8 = 8
Q. No. 3 (a to j) carries 2 marks each 2x10 = 20
Q. No. 4 (a to j) carries 3 marks each (amy nine) Bx90= 427
Q. No. 5 | (a to {i) carries 5 marks each (any three) 533 = 15

Total = 70
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1. Choose the correct answer from the four alternatives given below :

1x4=4
e el Bt s Tes i m e Aife T
(1) Which of the two seas/ oceans are connected by the Suez Canal ?
O (P R o/ A P AT TS TR0 2
(i) Mediterranean Sea and Red Sea

T AR AT (RS AR
(i) Altantic Ocean and Pacific Ocean
AT TS S S TR
(iii) Caspi%m Sea and Mediterranean Sea

AT AR S G AR

(iv) Caspian Sea and Black Sea

S AR O F AN

(b) Jamshedpur is an example of which type of town/city ?
ST (PR FoE/ TR S 2
Commerical city / Fifdfere =99

Industrial city / SUTIAS TI

2l
(it)
(iii) Mineral town / JfEe T

wn / e F9R

(v) Administrative to
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(c) Which state is ranked first in tea production in India ?

BT Ceollie SRS (Fie ICrE AN F WAl (ZE 2

(d) Which country has the largest road network in the world ?
(T (T “jf\Qfa?s’,i\-s\ﬂ\'J FRICOICT J2R 212 A 2] R 2

2.  Answer very briefly on : 1x4=4

SO F(F Ted 7l g
(1) What is the full form of NHAI ?
NHAI § 72} I & 2

(b) Write the name of a disease caused by water pollution.

2T eRe ARl i @R 9y @R i e

(c) Where the Rengma Hill is situated ?
@ AT 6 SRFO 2

In which district the literacy rate is highest in Assam as per the

(d)

census 2011 ?

| SR (R e AT Q9 2053 bR EIREEE SpiR /i o

3. Answer in brief : 2x10=20
5y Ted fral 8
(1) What do you mean By Environmental determinism ?
oifcee fagerm e & get 2
3 y
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(b)) What are the problems of human settlement in developing countries ?

TR (PPTIRe Ad 9Ihed TTPpiEE & & ¢

(c) Write fwo socio-economic factors responsible for distribution of

population.

Gkl [Ae9ee @eld coitEal 7o) SLAifEs SHinE a1 e

(d) Why India is called a land of villages ? Justify.

oo 57 arrel 3 @Rl = 2 T Forel Fweld <o |
(¢) What are the two bases of Indian migration ?
e eqeed foie 7ol [ 5 2

(H  Write a note on cotton cultivation in India.

oled g (Afes [am @b Gt i
(g9 What are the contributions of India in World Trade ?

e FifeTe SRR F[EE & ¢

() Discuss the environmental pollution caused by solid wastes

(NG} SR A @R AR @@es R sigamat @

(i) What is the average length and breadth of the plain of h
€

Brahmaputra Valley ?

@ GAORI (SN W%ﬂﬁ%mmwmﬂ?
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(7)

Write about the causes of population increase in Assam.

PTGk s IR |

4. Answer the following questions in about 100 words each -

(any nine)

Sx9=27

&

weTo il e @b Tew 10001 < et faatt ¢ (R 751)

() Write about the significance of age-sex pyramid.

(b)

(c)

()

(e)

29T GEOG

el Prifie steorf R |
What are the differences between secondary and tertiary activities ?
S i ol e e sy & ¢

Write abou‘t the North Atlantic Sea Rou.te.

Teq SiGaIf5e AT A [{E B )
Why the water trénsport is cheaper than other modes of transport ?
B GeTeifeEe oI AR IReCE A 2

On the basi; of function, classify the towns.

PR fofes TR T (aqiees <+

Describe various types of road transport in India.

OIS Rien saeig 12 AAfRzed A IR0 41|
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(g) Classify wasteland according to National Remote Sensing Agency.

m@avﬁﬂaﬁwﬁﬂﬁwﬁgﬁa EFiFeEs 4|

(h)  Write the importance of silk industry of Assam.

SR, 515 SoTiR @Y TS .

(i) What are the main problems of Rail Transport in Assam ?
S (@ AR 24 e R e
; (j) How are the countries classified on the basis of human devélopment

index ?

mmwwﬁ@m@m@mmﬁﬁww 34 T3 2

5  Answer the following questions : (any three) 5%3=15
T ool epTEd el a8 (R fefon).

(a) Discuss the Geographical factors affecting the distribution of

population.

Teeel] RoRee 2eR (AR (SN emmes et Fmi |

(h) Discuss the factors of tourist attractions.

o SRR <ol SRR R S <
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(c) Discuss the main problems of agriculture in India.
SiAed PR LN TPTFRRS [KEE St 41|
(d) Draw an outline map of India and mark the following therein.

SReT AR (TEE Q2 MHiba STE 1 O O oo il AR IRE |

(i) Two port cities
73/ S 9IS

(i) Two oil refineries

75! (O8GRI |
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